4  Saxon Math 5/4—Homeschool : Lesson 1

Missing Some of the problems in this book will have an addend

addends, missing. When one addend is missing and the sum is given,

part 1 the problem is to find the missing addend. Can you figure out
the missing addend in this number sentence?

" 5 ’l;__..

2 + ? = 7

Since we know that 2 + 5 = 7, the missing addend is 5. We
will often use a letter to represent a missing number, as we
see in the example below.

Example 5 Find each missing addend:
(@) 4 (b) B+ 6 =10
|
7

Solution (a) The letter N stands for a missing addend. Since
4 + 3 = 7, the letter N stands for the number 3 in this

number sentence.

(b) In this problem the letter B is used to stand for the
missing addend. Since 4 + 6 = 10, the letter B stands

for the number 4.

LESSON PRACTICE

Practice set Add:
a. 5 + 6 b. 6 + 5 c.83+0

d. 4 + 8 +6 e. 4+ 5+ 6

f. Diane ran 5 laps in the morning. She ran 8 laps in the
afternoon. How many laps did she run in all?

g. Write two number sentences for this . o .
picture to show the commutative of |o o
property:

h. Show six ways to add 1, 3, and 5.

Find each missing addend:
i. 7 + N= 10 ' jbp A+ 8 =12
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MIXED PRACTICE

1. There were 5 singers in the first row and 7 singers in the

second row. How many singers were in the first two
rows?

2. Ling had 6 coins in her left pocket and 3 coins in her right
pocket. How many coins did Ling have in both pockets?

Find each sum or missing addend:

3. 9 + 4 4. 8 + 2
5. 4 . 6. w 7. 6 8 Q
+ N ' + 5 + P + 8
9 8 8 8
9. 3 +4 + 5 10. 4 + 4 + 4
11. 6 + R = 10 12. X + 5 =6
13. 5 14.- 8 15. 6 16. 9
5 0 5 9
+ 5 + 7 + 4 + 9
17. M 18. 9 19. Z 20. 0
+ 8 + F $8 + N
10 i 2 10 3

21. 84+ 2 + 5+ 4 + 6
22. 2 + 2+ 2 + 2+ 2+ 2 + 2

Write a number sentence for each picture:

25. Show six ways to add 2, 3, and 4.

26. Sometimes a missing number is shown by a shape
instead of a letter. Choose the correct number for A in the
following number sentence:

A+3=10
A. 3 B. 7 C. 10 D. 13
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Example Find each missing addend:

X (a) 6 ' (b)4+3+2+B+6=20
N :
+ 5

17

Solution (a) We add 6 and 5, which makes 11. We think, “Eleven plus

what number equals seventeen?” Since 11 plus 6 equals 17,
the missing addend is 6.

(b) First we add 4, 3, 2, and 6, which equals 15. Since 15 plus
5 is 20, the missing addend is 5.

LESSON PRACTICE

Practice set Find each missing addend:
a8+ A+2=17 b. B+6 + 5 =12

c.4+C+2+3+5=20

MIXED PRACTICE

Problem set 1. prpy ate 5 carrots in the morning and 6 carrots in the
") afternoon. How many carrots did Hoppy eat in all?

2. Five friends rode their bikes from the mall to the lake.
" They rode 7 miles, then rested. They still had 4 miles to
go. How many miles was it from the mall to the lake?

Find each sum or missing addend:

3.9+ N= 13 4. 7 + 8
(1) (1)
5. P 6. 5 7 4 8. 9
(1) + 6 (2) 2 (1) 8 (1) 9
3 + W + 5 - 3 7
12

*The italicized numbers within parentheses underneath each problem number
are called lesson reference numbers. These numbers refer to the lesson(s) in
which the major concept of that particular problem is introduced. If additional
assistance is needed, refer to the discussion, examples, or practice problems of
that lesson.
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Example 1" Find the rule and the next three numbers of this counting
sequence:

10, 20, 30, 40, ’

Solution The rule is count up by tens. Counting this way, we find that
the next three numbers are 50, 60, and 70.

Example 2 Find the rule of this counting sequence. Then find the
: missing number in the sequence.

30, 27, 24, 21, s 185 s

Solution The rule is count down by threes. If we count down three
from 21, we find that the missing number in the sequence
is 18. We see that 15 is three less than 18, which follows
the rule.

Digits To write numbers, we use digits. Digits are the numerals 0, 1,
2,3,4,5,6, 7,8, and 9. The number 356 has three digits, and
the last digit is 6. The number 67,896,094 has eight digits,
and the last digit is 4.

Example 3 The number 64,000 has how many digits?
Solution The number 64,000 has five digits.

Example 4 What is the last digit of 20017
Solution The last digit of 2001 is 1.

LESSON PRACTICE

Practice set Write the rule and the next three numbers of each counting

sequence:
d. 10, ga 8’ 7: ’ 3 ’
bu 3, 6) 99 12! ——

L] 3 9 e

Find the missing number in each counting sequence:
c. 80, 70, . 50, ... d. 8, 186, 20, 4. ...

How many digits are in each number?

e. 18 £ 5280 g 8,403,227,189

What is the last digit of each number?

.19 g .
h.1! S 2 j. 8,403,190
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MIXED PRACTICE

Problem set 1. Blanca has 5 dollars, Susan has 6 dollars, and Britt has

V7 dollars. Altogether, how much money do the three
girls have?

2. On William’s favorite CD there are 9 songs. On his next-
“)" favorite CD there are 8 songs. Altogether, how many songs
are on William’s two favorite CDs?

3. How many digits are in each number?
(3)

(a) 593 (b) 180 (c) 186,527,394

4. What is the last digit of each number?
' (a) 3427 (b) 460 (c) 437,269

Find each missing addend:

5.5+ M+ 4 = 12 6.8 +2 + W= 16
(2) (2)

Write the next number in each counting sequence:

7. 10, 20, 30, o= 8. 22, 21, 20, y e
(3) (3)
9. 40, 35, 30, 25, P 10. 70, 80, 90, e
(3) (3)

Write the rule and the next three numbers of each céunting
sequence:

11. 6, 12, 18,
(3)

12. 3,6, 9,
(3)

13. 4, 8, 12,
(3)

14. 45, 36, 27,
(3)

’ ’ g oo

Find the missing number in each counting sequence:

15. 8, 12, , 20, ... 16. 12, 18, ; 30, w
(3) (3)

17. 30, 25, y18, ... 18. 6,9, LS. ..
(3) )
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19. How many small rectangles are
" shown? Count by twos.

’ ? XX XX XX
22). How many X’s are shown? Count X X% XX
by fours.
XX XX XX
XX XX XX
21. Write a number sentence for the picture below.
{1
22. 4 23. 9 24. 8 25. 2
{1) 8 {1) 5 (1) 4 (1) 9
7 7 7 7
+ 5 + 8 + 2 + 5

26. If A = 3 and [ | = 4, then A + [ | equals which of the
" following?

A. 3 B. 4 C. 5 D. 7
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Solution To show $324, we-use 3 hundreds, 2 tens, and 4 ones.
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4 ones

3 hundreds 2 tens
The value of each place is determined by its position. Three.-
digit numbers like 324 occupy three different places.

ones place
tens place
hundreds place —‘ l

3214

Example 3 Use money manipulatives or draw a diagram to show both
$203 and $230. Which is the greater amount of money,

$203 or $2307
Solution Using bills, we show $203 and $230 hke thlS
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The amount $230 is greater than $203.

Example 4 The digit 7 is in what place in 7537

Solution The 7 is in the third place from the right, Wthh shows the
number of hundreds. So the 7 is in the hundreds place.

LESSON PRACTICE

Use money manipulatives or draw a diagram to- show
$231 in $100 bills, $10 bills, and $1 bills.

b. Use money manipulatives or draw a diagram to show
$213. Which is less, $231 or $213? '

The digit 6 is in what place in each of these numbers? -
(a) 16 (b) 65 (c) 623

d. Use three digits to write a number equal to 5 hundreds,
2 tens, and 3 ones. .

Practice set a.
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MIXED PRACTICE

Problem set 1. When Robert looked at the cards in his hand, he saw 3 clubs,
/4 diamonds, 5 spades, and 1 heart. How many cards did he
have in all?

" 2. Write a number sentence for this ,
) picture:

3. How many cents are in 4 nickels? Count by fives.
(3)

Find each sum or missing addend:

4. 4 - 3. 4 . 16. 18 7. 7
I W g m oLy _
) + 3 19 14

8.4+ N+ 5 =12 9. N+2+3=38
(2) (2)
Write the rule and the next three numbers of each counting
sequence:

10;: 19, 12; 15} : :

(3)

11, 30, 24, 18, ; ; P

(3)

12. 12, 16,20, 1 . ,

(3)

13. 35, 28, 21, - : -

() :
14. How many digits are in each number?
” (a) 37,432 (b) 5,934,286 (c) 453,000

15. What is the last digit of each number?
% (@) B4 (b) 347 (c) 473

16. Draw a diagram to show $342 in $100 bills, $10 bills, and
“ $1 bills. -

17. How much money is shown by this picture?
(4

‘l =2

" SR

i
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Find the missing number in each counting sequence:

18. 24, , 36, 42, ... 19. 36, 32, , BL, oo
(3) (3)

20. How many ears are on 10 rabbits? Count by twos.
3)

21. The digit 6 is in what place in 3657

(4)

22, Write a number sentence for this an| (a8
" picture: ol (1 8.

Find each missing addend:

23.2 +5+3+2+3+1+N-=20
(2)

24. 4 + B+ 3 +2+5+4+ 1 =25
(2)

25. Show six ways to add 6, 7, and 8.
(1)

26. In the number 123, which digit shows the number of
“ hundreds?

G o B. 2 C. 3 D. 4
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Addition and
subtraction
fact families

Example’

Solution

Here we write “two subtracted from six” horizontally:
6 -2 =4 _
We can check a subtraction answer by adding the difference

to the number subtracted. This is like doing the problem “in
reverse.” The sum of the addition should equal the starting

number.

SusTrACT DOWN 6 App Up
Six minus two -2 Four plus twg
equals four. 4 equals six.
SUBTRACT
6 — 2 =4
AppD

The order of numbers matters in subtraction. The expression
6 — 2 means “take two from six.” This is not the same as

2 — 6, which means “take six from two.”

A fact family is a group of three numbers that can be arranged
to form four facts. The three numbers 2, 4, and 6 form an

addition and subtraction fact family.

2 4 6 6
+ 4 + 2 - 2 -4
6 6 4 2

Recognizing addition and subtraction fact families can help
us learn the facts.

The numbers 3, 5, and 8 form an addition and subtraction
fact family. Write two addition facts and two subtraction facts
using these three numbers.

3 5 8 8
+5 + 3 -3 ‘— 5
8 8 5 3

LESSON PRACTICE

Practice set Subtract. Check your answers by adding.

a. 14 b. 9 C. 15 d. . e, 12
= B - 8 — P - 4 - 5

f. The numbers 5, 6, and 11 form a fact family. Write two
addition facts and two subtraction facts using these three

numnbers.

g. Describe how to check a subtraction answer. Show an
example.
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MIXED PRACTICE

Problem set

L 14 2. 15 3. 9 4. 11
- 5 (6) - 8 (6) i 4 (6)' _ 7

5. 12 6. 11 7. 15 8 9
(6) - 8 (6) . 6 (6) 7 (6) . 6
9, 13 10. 12 11. 8 12. A
IB) h 5 /f)) e 6 “) + N ’1} + 8
7 14

13. 3 + W = 11 14. 1 + 4 + M = 13 °

(1) (2)
15. The numbers 4, 6, and 10 form a fact family. Write two
) addition facts and two subtraction facts using these three
numbers.

Write the rule and the next three numbers of each counting
sequence:

16. 16, 18, 20, , : s
(3]

17. 21, 28, 35, , ,
(3)

18. 20, 24, 28, ; % -
(3)

19. How many days are in the tenth month of the year?
(5)

20. Draw a diagram to show $326.
(4) .

21. The digit 6 is in what place in 4567
(4)

Find each missing addend:

22. 2 + N+ 4 =13 23. A+ 3 +5 =16
(2) (2]

24. 1 + 2 +3 +M+5+6 =20

2)

25. Show six ways to add 3, 4, and 5.
(1)

26. The ages of the children in Tom’s family are 7 and 9. The

™ ages of the children in Mary’s family are 3, 5, and 9.
Which number sentence shows how many children are in
both families?

A.3+7 =10 B.7+9=16
C.2+3=5 - D! 3%+ 5:4'9'= 17
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LESSON PRACTICE : . . . —_—

Practice set Use words to write each number:
e b. 81
c. 99 d. 515

Use digits to write each number:
g. nineteen : h. ninety-one

i. five hundred twenty-four
j. eight hundred sixty

k. Use words.to write the number shown by this model:

oo

MIXED PRACTICE

Problem set 1. Annie has 8 dollars. She needs 6 dollars more to buy the
™ radio. How much does the radio cost? '

2. Bixby poured 8 ounces of soda into a pitcher containing
8 ounces of juice. How many ounces of liquid were in

the mixture?

Find each missing addend:

3.5+ N+2 =11 4. 2 + 6 + N =15

@ ()

Subtract. Check by adding,

5. 13 6. 16 7. 13 8. 12
B 5 6 8 6 7 6 8

—_— —_——
— e ——

Use digits to write each number:

g}.' two hundred fourteen 10. five hundred thirty-two
7) _

. Use words to write each number:

11. 301 12. 320
) (7)
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1?7} Use words to write the number shown by this model:

oo

. 14. Write a number sentence for this .
" picture: .

Write the rule and the next three numbers of each counting
sequence:

15. 12, 18, 24, y ) s, 5
(3)

16. 15, 18, 21, ; . ——
(3)

Find the missing number in each counting sequence:

17. 35, 42, 5 D05 mae 18. 40, , 96, 64, ...
(3) (3)

19. How much money is shown by this picture?

(4)
e p :nu“ [
é

20. The numbers 7, 8, and 15 form a fact famlly Write two
@ addition facts and two subtraction facts using these three

numbers.

21. Brad was twelfth in line. His sister was sixth in line. How
® many people were between Brad and his sister?

22. Six nickels is equal to how many cents? Count by fives.
(3)

23.4 +7 +8+5 +4 24. 2 + 3 +5+8+5
(1) (1)

25.5+8+6+4+3+7+ 2
(1)

26. Which addition sentence is related to 12 — 5 = 77
(6)
A7 +5=12 : B. 12 + 5 = 17

C 12 + 7 =19 12 - 7<= B



We can also add $24 and $15 with
pencil and paper. When we use pencil

Lesson 8

Add ones.
Add tens. _t I

and paper, we first add the digits in the $24
ones place. Then we add the digits in + 815
the tens place. (Remember to include 339

the dollar sign in the answer.)
Add: $32 + $7

To add with pencil and paper, we write the numbers so that
the digits in the ones place are lined up.

Example

Solution

$32
+$ 7
$39
LESSON PRACTICE
Practice set Add:
a. $53 + $6 b. $14 + $75 c. $36 + $42
d. $27 + $51 e. $15 + $21 f. $32 + $6

MIXED PRACTICE

Problem set Use digits to write each number:

1. three hundred forty-three
7)

2. three hundred seven
(7)

3. Use words to write the number 592.
(7)

Find each missing addend:

4. 2 5. 1 6. 1 i 2
{2} 4 (2) R (2j T (2 6
+ N + 6 i P + N
L 10 1 13
8. $25 9. $85 10.  $22 11. $40
“ + $14 “ + %14 “ +8$6 “ + $38
12. 13 48 17 14. 17 15. 14
® _ g ® - 5 ) _ 8 @ . 6
16. Grey has $23. Beckie has $42. Together, Grey and Beckie

% have how much money?
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LESSON PRACTICE

Practice set Solve each problem using money manipulatives. Then add
using pencil and paper:

a. $36 b. $47 Cc. $57
+ $29 +3 8 + $13

Use pencil and paper to add: :
d. 68 + 24 e. $59 + $8 f 46 + 25
MIXED PRACTICE

Problem set Use digits to write each number:

1. six hundred thirteen 2

. nine hundred one
{7} {7)

3. Use words to write 941.
(7}

Find each missing addend:

4. 2 5. 5 6. H 7. 2
' {2 4 (2 G {2} 4 (2) 7
s L T £
11 13 15 16
8. 33 9. $47  10. 27 11.  $49
“ 4+ 8 “ + 818 ” + 69 @+ $25
13, 17 13. 12 14. 9 - 15. 13
6 _ 8 (6] _ 6 &) _ - 7 B 6

16. What is the name for the answer when we add?
{1}

17. What is the name for the answer when we subtract?
(6)

18. Which month is two months after the twelfth month?
(5) .

Write the rule and the next three numbers of each counting
sequence:

19. 30, 36, 42, . .
(3)

20. 28, 35, 42, ’ ’ R
(3)
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21. Which digit is in the hundreds place in 8437

14!
22. 28 + 6 24. 35 + 27
9]

194

25. Mike bought pants for $28 and a shirt for $17. Altogether,
% how much did the pants and shirt cost? Write a number

sentence for this problem.

23. $47 + $28

T,

26. What number does this model
) stand for?

A. 31 B. 13
C. 103 D. 130
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LESSON PRACTICE

Practice set Write “even” or “odd” for each number:
a. 563 b. 328 c. 99 d. 0

e. List the five three-digit even numbers that have a 6 in the
hundreds place and a 3 in the tens place.

MIXED PRACTICE

Problem set Use digits to write each number:

1. five hundred forty-two 2.
(7) . (7)

six hundred nineteen

3. The numbers 4, 7, and 11 form a fact family. Write two
" addition facts and two subtraction facts using these three
numbers. .

Use words to write each number:
4. 903 5. 746

(7) : (7)

6. List the five three-digit odd numbers that have a 5 in the
% hundreds place and a 0 in the tens place.

Find each missing addend:

7- 4 8. P 9. 5 10. R
(2) N (2) 4 (2) Q (2) g
+ 3 + 2 + 7 + 2

14 13 1 1

11. 15 12. 14 13. 17 14. © 11
(6) _ 7 (6; _ 7 (6) __ 8 e .. 6
15. $25 16. $19 17. 42 18. 1.7
“ + $38 “ + $34 @ o 8 “ + 49

Write the rule and the next three numbers of this counting
sequence: '

19. 18, 21, 24, 3 ; iy
{3)

20. What is the eighth number in this counting sequence?
(3,5)

6, 12, 18, 24, ...
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